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Sectional view of turntable
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@ Guide block size 'A’ is described in specification sheet.
8RB FTEREA Name of part
: LeT47IL(8H) . A—27—7 LEEEAE %, TITLE 2
Receptacle (Power) Turntable rotating direction ﬁ‘ RBS__I 60R .
) LEF4)L (&) B—2T—=T WIS TRY . <
Receptacle (Signal) o T7/5—EZEER A O Re1/4(0.49MPa) ft#k Specifications i DRAWN BY R SCALE B UNIT <
EEHRERO Pneumatic feed port for clamp operation SR T—AERE S F— v ., ~ . - . o 5
3 Lubricant feed port and air purging :Rc1/4(0.49MPa) Speed reduction ratio 1/36 Motor shaft conversion inertia 1.98x10 kgrm H l Sh I da E 1 3 {M‘ mm
4 7.'._’()11’72—:) R REVRILEZEEL O H—RE—4 @iS4/5000 §£F§'7—7’f')'l—:/'.\” 0.64 kg m? APPROVED BY CHECKED BY H DATE i:%
Oil level gauge ‘Rc1/4 Servo motor Allowable work inertia f 201 5 1 0 03 =
858k m O 9 Pneumatic outlet port for support spindle B | EEd - 1 mEuEE IIBE Vertical : 100kg HK *ﬁ . .
5 e clamp operation : Rc1/4 : 83.3min  (motor3000min ) . . : =1 - v >
Lubricant drain port Turntable rotation speed Allowable work weight f# & = Horizontal : 200kg TN SN Ao 2015.11.20 2015.11.20 DRAWING NO. o
6 E—4MEERH R 10 o Y5V TRV (ZIE) 250N-m ReHE= 60k .A > 1 2015.1.17 | 334FJ DVWM%LMZ*EBM N A 2/ # M7051 1 B <
Motor rotating direction Exhaust port Clamp torque (Pneumatic) (Pressure : 0.49MPa) Mass of the Rotary table & HNERE=S F£/H STIEEI1E (B R]|NO.) E]'E%‘

1MPa=10.2kgf/cm? 1N=0.102kgf 1kg*m?=10.2kgfcm=sec? (IN=m=sec’=1kg*m?)
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